VEC

FAIRING BOLTS KIT




BIKE MODEL YEAR CODE CODE CODE CODE
APRILIA FAIRING ENGINE FUEL CAP SCREEN
RSV4 /R / APRC 09-17 VECO7A VEMO7A VEVO7A
RSV4 TUONO 08-17 VEMO7A
BMW FAIRING ENGINE FUEL CAP SCREEN
S 1000 RR 09-15 VECO01B VEMO1B VEVO1B
16-17 VEMO1B VEV02B

F 800 R 09-14 VECO02B VEMO02B

DUCATI FAIRING ENGINE FUEL CAP SCREEN

748 / 916 / 996 93-03 VETO1D VEVOI1D

749 / 999 03-06 VEVOI1D

848 08-13 VECI13D VEM15D VETO1D VEV04D

1098 /1198 07-11 VECI13D VEMI13D VETO1D VEV04D

PANIGALE 899 / 1199 12-15 VEC16D VEM16D VEVO5D

MONSTER 696 / 796 08-14 VEC14D VEM14D VEVO5D

MONSTER S4R / S2R 03-08 VETO1D

MONSTER 1100 09-13 VEMI13D VETO1D

DIAVEL 11-17 VECI17D

SCRAMBLER 15-16 VEC18D VEM18D

HONDA FAIRING ENGINE FUEL CAP SCREEN

CBR 600 F 95-00 VETO04H
01-06 VECI10H VETO2H VEVO2H
11-13 VEC25H VEM21H VETO2H

CBR 600R /RR 01-03 VETO2H VEVO2H
03-04 VEC14H VEMI1TH VETO2H VEVO2H
05-06 VECI17H VEMI1TH VETO2H VEVO2H
07-08 VEC20H VEM20H VETO2H VEVO2H
09-12 VEC24H VEM20H VETO2H VEVO2H
13-16 VEC26H VEM20H VETO2H VEVOSH

CBR 900 00-01 VETO4H VEVO2H
02-03 VETO2H VEVOSH

CBR 1000 R / RR 04-05 VECI15H VEMI15H VETO2H VEVO2H
06-07 VECI19H VEMI15H VETO2H VEVO2H
08-16 VEC22H VEM22H VETO2H VEVO6H
2017 VEC27H VEM27H VETOSH VEVO7H

VTR 1000 SP1 /2 00-06 VETO2H VEVO2H

CB 1000 R 08-17 VEC23H VEM23H VETO2H

23229 =)

list continue

00 black 02 blue 03 gold 04 red 07 green

nero blu oro rosso verde

1% S1109 30vy



304 VI43LIN LI

BIKE MODEL YEAR CODE CODE CODE CODE
HONDA FAIRING ENGINE FUEL CAP SCREEN
HORNET 600 98-02 VECI18H VEMO7H VETO2H

03-06 VECI18H VEMI16H VETO2H
07-13 VEC21H VEM21H VETO2H
KAWASAKI FAIRING ENGINE FUEL CAP SCREEN
NINJA 250 R / 300 07-17 VEC21K VEM21K VETO5K VEVO5K
ZX 6-636 R / RR 98-02 VEVOI1K
03-04 VECO05K VET04K VEV02K
05-06 VECI11K VEM11K VET04K VEVOI1K
07-08 VEC15K VEM15K VET04K VEVOI1K
09-12 VEC20K VEM20K VET04K VEVOI1K
13-17 VEC27K VEM20K VET04K VEVOI1K
ZX10R 04-05 VECI10K VET04K VEVOI1K
06-07 VEC14K VEM14K VET04K VEVOI1K
08-10 VECI18K VEMI18K VET04K VEVOI1K
11-15 VEC24K VEM24K VET04K VEVOI1K
16-17 VEC29K VEM24K VETO06K VEV04K
ZZR 1400 R 06-17 VECI19K VEMI19K VET04K VEVOI1K
ER6N 05-08 VECI13K VET04K
09-11 VEC22K VET04K
7650 2017 VEC31K VEMS3I1K
2750 /R /S 03-06 VECO09K VEMO9%K VET04K VEVOI1K
07-13 VEC16K VEM16K VET04K
Z 900 2017 VEC30K VEMS30K VEV04K
2800 /R 13-16 VEC 26K VEM16K VET04K VEVO3Y
21000 03-06 VET04K VEV04K
07-09 VECI17K VEM17K VET04K VEV04K
10-13 VEC23K VEM23K VET04K VEV04K
14-17 VEC28K VEM23K VET04K VEV04K
Z 1000 SX 10-16 VEC25K VEM23K VET04K VEVO1K
SUZUKI FAIRING ENGINE FUEL CAP SCREEN
GSX 600 R 01-03 VETO2S VEV0S5S
GSX 600/750R 04-05 VECI18S VETO1S VEV06S
06-07 VEC22S VEC22S VETO1S VEV07S
08-10 VEC25S VEC22S VETO1S VEV07S
11-17 VEC30S VEC22S VETO1S VEV07S
GSX 1000 R 03-04 VETO1S VEV0S5S
05-06 VECI19S VEMI19S VETO1S VEV07S
07-08 VEC24S VEM24S VETO1S VEVO07S
09-16 VEC27S§ VEM27S VETO1S VEV073
2017 VEC35S VEMB35S VETO1S VEV09S Applicatt
catrion
GSXS 750 2017 VEC34S VEM34S VETOS5S list gonﬂnue’ 00black 02 blve 03 gold 04 red 07 green
nero blu oro rosso verde



00 black
nero

02 blue
blu

03 gold
oro

04 red
rosso

07 green
verde

BIKE MODEL

YEAR

CODE

CODE

CODE

CODE

SUZUKI FAIRING ENGINE FUEL CAP SCREEN
GSXS 1000 15-17 VEC32S VEM32S VET04S
GSX 1300R HAYABUSA 08-17 VEC26S VEM26S VET02S
GSR 600 06-12 VEC23S VEM23S VETO1S
GLADIUS 650 09-15 VEC29S VEM29S VETO1S
SV650 ABS 03-12 VETO1S VEV06S
16-17 VEC33S VEM33S VETO1S
SV 1000 03-06 VETO1S VEV06S
GSR 750 10-16 VEC31S VEM31S VETO1S
B-KING 07-12 VEC28S VEM28S VETO03S
YAMAHA FAIRING ENGINE FUEL CAP SCREEN
R125 08-13 VEC18Y VEMI18Y VEVO1Y
R3 15-17 VETO2Y
R6 99-02 VECO1Y VETO2Y VEVO1Y
03-04 VECO3Y VEMO3Y VETO3Y VEVO3Y
05 VECO9Y VEMO3Y VETO3Y VEVO3Y
06-07 VECI10Y VEMI10Y VETO2Y VEVO3Y
08-16 VECI13Y VEMI10Y VETO2Y VEVO3Y
2017 VEC25Y VEM25Y VETO2Y VEVO3Y
R1 98-01 VEVO02Y
02-03 VETO2Y VEVO02Y
04-06 VEMO4Y VETO2Y VEVO3Y
07-08 VEM12Y VEM12Y
09-14 VEMI15Y VEM12Y
15-17 VEC23Y VEM23Y VET04Y VEVO3Y
XJé 09-15 VECI17Y VEMI17Y VETO2Y
FZ6 04-11 VECO08Y VEMO8Y VETO2Y
FZ8 10-16 VECI19Y VEM19Y VETO2Y
MTO07 14-17 VEC22Y VEM22Y VETO2Y
MTO9 13-16 VEC21Y VEM21Y VETO2Y
MT10 16-17 VEC24Y VEM24Y VET04Y
FZ1 06-15 VECI1Y VEMITY VETO2Y
TDM 900 02-14 VEC16Y VEM16Y VETO2Y VEV04Y
T-MAX 08-11 VEC14Y VEM14Y
12-16 VEC20Y
TRIUMPH FAIRING ENGINE FUEL CAP SCREEN
DAYTONA 675 /R 06-12 VEMO3T VETOIT VEVO2T
13-16 VEMO3T VETOIT
STREET TRIPLE / R 07-12 VECO3T VEMO3T VETOIT
13-15 VEMO3T VETOIT
SPEED TRIPLE /R 05-10 VECO04T VEMOA4T VETOIT
11-15 VECOS5T VEMOST VETOIT

1% S1109 30vy



¥SN4S YIY3LIA

MEASURES

Dome Head Screw / Vite testa bombata

CODE

Dome Head Screw / Vite testa bombata

MEASURES

CODE

MEASURES

Dome Head Screw / Vite testa bombata

CODE

o 1 A P I VMCO037 10 S @ 14xméx 10 VMCO04210S | @ 14xm5x 10 VMCO048 10'S @ 10xmé6x 10
4 1 {.:' R | s | 1 ool vmcosiss @ 14xm6x 15 VMC04215'S @ 14xm5x 15 VMC048 15°S @ 10xméx 15
q | M| = VMC03720S | @ 14xméx 20 VMC04220S | @ 14xm5x20 VMC04820S | @10xméx20
e L - VMCO037 25§ @ 14x M6 x 25 VMCO04225S | @ 14xm5x 25 VMCO048 25'S @ 10x M6 x 25
vmcos7 VMCo38 VMCOo3? VMCO037 30 S @ 14 x mé x 30 VMC04230S | @ 14xm5x 30 VMCO048 30'S @ 10 x M6 x 30
. VMCO037 35S @ 14xmé x 35 VMC043 105 | @ 16xméx 10 VMCO048 35S @ 10x mé x 35
T i el VMCO037 40 S @ 14xmé x 40 VMC043 155 | @ 16xméx 15 VMCO048 40'S @ 10 x M6 x 40
Sami an - ME:..d =, VMCO037 45 @ 14X M6 x 45 VMC04320S | @ 16xmé x 20 VMCO050 10 S @ 8xm4x 10
T o T ] Ll W L £o2d| vmcoarsos @ 14xmé x 50 VMC043255 | @ 16xm6x 25 VMCO050 15°S @ 8xmax15
* " | ‘ H | 5 vmco38 10's @ 141.3,6xMé x 10 VMC04330S | @ 16xmé x 30 VMC05020 S @ 8xm4x20
” v ¥5 VMCO38 15 S @ 141.3,6xméx 15 VMC04335S | @ 16xmé x 35 VMCO050 25 S @ 8xmax25
VMCo40 vmcoa Vmco42 VMC03820'S @ 141.3,6 x M6 x 20 VMCO043 40'S @ 16 x M6 x 40 VMCO050 30 S @ 8 x M4 x 30
S VMCO38 25'S @ 141.3,6x M6 x 25 VMC04410S | @ 18r.9,8xméx 10 VMCO056 10 $ @22r.5xméx 10
: _fr L VMC03830S | @ 141.3,6xm6x 30 VMCO044 155 | @18r98xméx 15 VMCO056 15 S @22r.5xméx 15
' I, B ] VMCO3835S | @ 141.3,6 x M6 x 35 VMCO04420S | @ 181.9,8 x M6 x 20 VMCO056 20 S @ 221.5x Mé x 20
H < -0=s -Pluwa | < O E| VMC039105S @ 141.48xm6x 10 VMC04510S | @18r.8,2xméx 10 VMCO056 25'S @ 221.5xmMé x 25
" 5 | | VMCO039 15 @ 141.48xméx 15 VMC04515S | @18r.82xméx 15 VMCO056 30 S @221.5xmMé x 30
- . - VMCO039 20 S @ 141.4,8xMé x 20 VMC04520S | @ 181.8,2xmé x 20 VMCO057 10S @ 141.23xmé x 10
vmecoss vmcoad VMCo45 VMCO4010S | @ 14r.6xméx 10 VMC046 105 | @ 17r.6xméx 10 VMCO57 15 D 14123 xm6x 15
VMCO040 15 S @ 14r.6xmbx 15 VMC046 155 | @ 17r.6xméx 15 VMCO058 15°S @ 12x 15 autofilet.
=y [ 1] VMC04020 B 1416 X Mé x 20 VMC04620S | @ 17r.6xméx 20 VMC146 125 @ 7,8xm4x 12
A 1o ma S T VMCO41 10'S @ 141.3,5xm5x 10 VMC047 10S | @ 12xm5x 10 VMC147 10 S @9.8xm5x 10
4\ Y Lol B & VMCO41 155 | @141.3,5xm5x 15 VMC047 155 | @12xm5x 15 VMC147 15§ @ 9,8xm5x 15
‘ I | H : l | . VMCO41 20 $ @ 141.3,5xm5 x 20 VMC047 20S | @ 12xm5x 20 VMC147 20'S @ 9,8xmM5 x 20
s " L, VMCO047 255 | @ 12xm5x 25 VMC147 25 S @ 9,8 x M5 x 25
VMCOo44 vmco47 vMco48 VMC04730S | @ 12xm5x 30 VMC147 30'S @ 9,8 x M5 x 30
- — — VMC408 10'S @141.2,5xm5x 10
= = T [ VMC644 13 S @181.2,9 xméx 13
n 1 & LJ i:l « * a-:a Dome Head / Testa bombata
us ]
VMCO050 VMCO056 VMCO057 VMCO058
00 black 01 ergal 02blue 03 gold 04 red 07 green
nero ergal blu oro rosso verde




Cap Head Screw / Vite testa cilindrica

Cap Head Screw / Vite testa cilindrica

Exagon Head Screw / Vite testa esagonale

L8 ¥ j t i '-—Ej_-—-_-\-:: CODE MEASURES CODE MEASURES CODE MEASURES
| axl |l |- G_,' T ~ VMC049 10'S @10xm4x 10 VMCO054 35S @ 13xm8x 35 VMC036 10'S @12xméx 10
- | 1 ‘ g | l Q VMCO049 20'S @ 10 x M4 x 20 VMCO054 40 S @13 x M8 x 40 VMCO036 15 S @12xméx 15
Ll L p ' VMCO051 08 S ?8.5xm5x08 VMC054 45 S @ 13xm8x 45 VMCO036 20 S @ 12xméx20
w—— VMG 147 —— VMCO05110'S @8,5xm5x 10 VMC054 50 $ @ 13xm8 x 50 VMCO036 25'S @ 12xmMé x 25
VMCO051 15§ @8,5xm5x15 VMCO054 55§ @ 13xm8x 55 VMCO036 30 S @ 12xmé x 30
~ _ G a1 VMCO051 20 S 2 8,5xm5x20 VMCO054 60 S @ 13 xm8x 60 VMCO036 35S @ 12xméx 35
- ' VMCO051 25§ 2 8,5xm5x25 VMCO05510 S @10xméx 10 VMCO036 40 S @ 12xmé x 40
! 11 " | & VMCO05130'S @ 8,5xm5 x 30 VMCO055 15 S @10xméx 15 VMCO036 45 S @ 12 x mé x 45
: - RS = S VMCO51 35§ @8,5xm5x 35 VMCO055 20 S @ 10 x M6 x 20 VMCO036 50'S @ 12 xmé x 50
o o L VMCO51 405 | @8,5xm5x 40 VMC055255 | @10xm6x 25 VMC036555 | @12xméx 55
VMCO36 VMCO51 VMCO052 VMCO51 45 S @ 8,5x M5 x 45 VMC05530'S @ 10 x mé x 30 VMCO036 60 S @ 12X mé x 60
VMCO051 50 S 2 8.5xmb5x 50 VMCO055 35S @ 10xméx 35 VMCO036 65 S @ 12xméx 65
o - VMCO052 10 S @7xm4x10 VMC05540S @ 10 xmé x 40 VMCO036 70 S @ 12xméx70
7 _._. I___:_' VMC052 158 @7xm4x15 VMCO055 453 @ 10xmé x 45 VMC036 75 S @ 12xméx75
] = N - LIS VMC052 20§ @ 7 x M4 x 20 VMCO055 50'S @ 10 x M6 x 50 VMCO036 80 S @ 12x M6 x 80
5| > H | = VMC052 25 $ @7xm4x25 VMCO055 55'$ @10xmé x 55 VMCO036 85 'S @ 12xmé x85
i ‘ L VMCO052 30 S @ 7xm4x30 VMCO055 60 S @ 10 xmé x 60 VMCO036 90 S @ 12xméx90
VMCO053 VMCO054 VMCO055 VMCO052 35S @ 7xm4x35 VMCO055 65 S @ 10xméx 65 VMCO036 95 S @12xméx95
VMC052 40 S @ 7 xm4 x 40 VMC05570S @10xméx70 VMCO053 10 S @ 16xm8x 10
e R - VMC054 15 S @13xm8x 15 VMCO05580S @ 10xmé x 80 VMCO053 15 S D 16xm8x 15
1e) _ Ty] _ 7 VMC054 20 @ 13 xm8x 20 VMCO05590'S @ 10X M6 x 90 VMC05320'S @ 16 xm8x 20
W O 8 FIE: & i VMCO054 25 S @ 13xm8 x 25 VMC5258S VMCO053 25 S @ 16 x M8 x 25
g ] . R VMC05430S | @ 13xm8x30 VMC05330S | @ 16xm8x30
u s L VMCO053 35S @ 16xm8x 35
VMC525 VMC049 VMCé44 Cod. VMCO001 VMCO053 40 S @ 16 xm8 x 40
VMCO053 45§ @ 16 xm8 x 45
NYLON WASHERS cooE VMC053 50 S @ 16 xm8 x 50
50 nylon washer inner d. 5mm VMC0015 Cod. VSRCOIV-R oﬁ) VMCO053 558 @ 16xm8 x 55
50 rondelle nylon d. interno 5mm Cap Head / Testa cilindrica VMCO053 60 S @16 xm8x 60
50 nylon washer inner d. 6mm
50 royndelle nylon d. inferno Smm VMCO0016 QUARTER TURN FASTER CODE
50 rondelle nylon d. intferno 5mm g.Inn.ra
Receptacle VSRCOIR
Kie pe. Vil sgoncio + rondolios eetooell VSRCOK
@ @ @ @ @ @ 1/4 turn fastener + washer + receptacle VSRCO]
Vite sgancio rapido + rondella + ricettacolo Exagon Head /Testa esagonale
oblock Olege 02t 03geld Gaed | GTgm 1 fumfostoner s wosher SO

Vite sgancio rapido + rondella

$1109 3Ivy






